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QUESTION 1

Fill in the blanks:

Enzymes are that work best at pH or temperature.
A. biological catalysts, optimum

B. organic catalysts, minimum

C. inorganic catalysts, maximum

D. chemical substances, moderate

Correct Answer: A

QUESTION 2
Fill in the blank:

The hepatic portal vein carries , blood from the to the

A. deoxygenated, nutrient-rich, intestines, liver
B. deoxygenated, nutrient-rich, liver, stomach
C. deoxygenated, nutrient-poor, liver, intestines
D. oxygenated, nutrient-rich, intestines, liver

Correct Answer: A

QUESTION 3

Which of these make up a molecule of fat?

A. three molecules of fatty acid and one molecule of glycerol
B. one glycerol molecule and three stearic acid molecules
C. three molecules of glycerol and one molecule of fatty acid
D. one carbon, one hydrogen, and one oxygen molecule

Correct Answer: A

QUESTION 4

Which of these statements regarding the "oxygen debt" created during heavy exercise is true?
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A. Oxygen debt is created due to build-up of acetic acid in the muscles, which needs a high level of oxygen to be
oxidized.

B. Oxygen debt is created due to build-up of lactic acid in the muscles, which needs a high level of oxygen to be
oxidized.

C. Oxygen debt is created due to build-up of lactic acid in the liver, which needs a high level of oxygen to be stored.

D. Oxygen debt is created due to build-up of lactic acid in the muscles, which needs a high level of carbon dioxide to be
oxidized.

Correct Answer: B

QUESTION 5

Which of these is not regulated by the parasympathetic nervous system?
A. increased glandular activity

B. slowed heart rate

C. increased intestinal activity

D. constricted blood vessels

Correct Answer: D
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